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MAY 2013 U/ID 46435/UCCE

Time : Three hours Maximum : 100 marks
PART A — (10 x 3 = 30 marks)
Answer any TEN questions.

All questions carry equal marks.
1.  Write the formula for Bairstow’s and Newton —
Raphson methods.
Bairstow’s wpmid> Newton-Raphson @penpsefien
&(H&5S S (PEDEENET F(HS.
2. Give the formula for Range-kutta 4th order
formula.

Range-Kutta 4t order sm&s ald) (penmsaner s(ms.

3.  Write down the formula for Trapezoidal rule,

Trapezoidal eflSludlener &ma.

4, Find the AM for the following items:
x: 1 2 38 4 5
f: 2 4 6 5 3
etreu(mLd alLpmigERd@ Arithmetic mean srears.
x: 1 2 38 4 5
f: 2 4 6 5 3



10.

11.

12.

Define: Random variable and Sample space.

Random variable wpmmib sample space-enw

U TILIMIGS.

Define : Chi square test

cuenywenm : chi square test.

Define: Rank correlation and Correlation.

Rank  correlation  wpmid  correlation—sener

cUETWIED.
Give the formula for Two regression lines.
@) regression CamHEMmer &(mHs.

What is Composite Data Type?

Composite data (penp eratmmed erevmen?
Define: Data Structure

Data Structure eow cuenywienm

Define: Trees

Trees — e@w euamrwen.

What is Shortest Path?

Shortest path eresmmed eremes?
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13.

14.

15.

PART B — (5 x 6 = 30 marks)

Answer any FIVE questions.
All questions carry equal marks.

Write an algorithm for false position method.
False position @penpufer algorithm-enw er(pgis.
Dividing the range into 10 equal parts, find the

T
approximate value of I sinx dx of by Simpson’s
0

rule.

m
J.sinxdxeifr reneu, 10 swursmsams  LSTHg
0

Simpson’s allgludle smevrs.

Obtain a root of the equation correct to four

decimal  places x*-5x+3=0by Newton’s
Raphson method.

x* =5x +3 =0 eremp soaruriqen  gCsaE)ID

@M  (POSDS BIen@ — @Qeds  HmsSsons
Newton’s Raphson— wpenmufled smemrs.
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16.

17.

18.

19.

Calculate the Mean and S.D. of the following data:

72 56 35 48 85 72 25 66 92 42

Geteu(mLd eLIpEISEREE mean wHmD S.D. ew srems.

72 56 35 48 85 72 25 66 92 42

Calculate correlation coefficient from the following
results:

N =10, X x =140, ¥y =150, X(x -10) (y -15) = 60
Y(x-10f =180 X(y-15) =215.

ereu(md SLEERs@ correlation coefficient—enwl
5HS.

N =10, X x =140, ¥ y =150, X(x -10) (y -15) = 60
Y(x-10f =180 X(y-15) =215.

Explain the various operations on Stack.

Stacken LivGoum QFwLITL g enar al6md@s.

Write about Hash Tables and Hash Functions.

Hash Tables wpmib Hash function-sener er(pgis.
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20.

21.

PART C — (4 x 10 = 40 marks)

Answer any FOUR questions.

All questions carry equal marks.

1 1 1
Compute the Inverse of the matrix (4 3 -1| by
3 5 3

Gauss-Jordan method

Gauss-Jordan  pepuie  Spssewr  matrixer
Inverse-enw smewrs.

11 1
4 3 -1
3 5 3

Solve by Gauss Elimination method.
2x+y+z=17
4x+2y+3z=4
x—y+z=0.
Gauss-Elimination wenpuie §rés.
2x+y+z=17
4x+2y+3z=4
x—y+z=0.
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22. Calculate Pearson’s coefficient of skewness for the

following.

Class intervals : 10-19 20-29 30-39 40-49
Frequency : 5 9 14 20
Class intervals : 50-59 60-69 70-79 80-89
Frequency : 25 15 8 4

Gereumd  alupmisEns@ Pearson’s coefficient of
skewness eow Hrers.
Class intervals: 10-19 20-29 30-39 40-49

Frequency : 5 9 14 20
Class intervals : 50-59 60-69 70-79 80-89
Frequency : 25 15 8 4

23. Calculate Spearman’s rank correlation coefficient.
X: 50 70 84 96 98 61 70 97 92

Y: 60 60 97 90 88 55 92 60 90
Spearman’s rank correlation co-efficient—eows srers.

X: 50 70 84 96 98 61 70 97 92

Y: 60 60 97 90 88 55 92 60 90

24. Describe on Circular Queue and Single linked list.

Circular queue wpmib single linked list-sener alleurl.

25. Explain Merge sort with an example.

Merge sort-enw 2 gryentggiL e 6llens@s.
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